B 22EEVeEHiERZHASE CITY CUP (R1%)

BRIRRER

<EB¥F> = TORYR - TSIV -%FFEDE,
Hi#E: 1278 (%) =215 Y147 AFE7Y—F  Ad-b Bii5 : 88F45%)
B (%) (=) =¥ TO MD
1| 9:30| MD | &% | 42| VS | 37 | LEZ)I| X&O A A&d 14 SR
2| 10:30f ME AF§ |48| VS| 6 8 HEAIE | EEZIII| BFlEE 241 ERZ)I
3| 11:30f MD | LEZ)I| 35| VS | 23 | XEd/II| KPY L2 A9 31 K2l
4| 12:30] ME B 10| VS | 31| X&O | EEZI| XK= EEZ)I ME
5| 13:30f MD | KE®)II| 27 | VS | 46 | HFIM 8 | X&d B8 141 APFH
6| 14:30] ME | K& [ 22| VvS |43 | XM |X=EDII| B | XSH)1| |24 X80
7| 15:50| MDE | @#0 | 26 | VS | 36| KFY RE e | EEZIN| (3461 L2
<EBEF> MDE 147--- KPS 247 HF0FE
HiE:12H 78 (L) =15 BATAEE7U—-F : BI-b Bt : 88¥45%)
B e (%) (&) = TO MF
1| 9:30| MF | ZB3F |49 | VS | 38| &L |swr-vites| FEHE |swF-uits| |14 BEBS
21| 10:30] MG oy 41| VS| 20 WE #2RF | BHL | BEF 2 BHKEMRIA
3| 11:30f MF | &t | 28 | VS | 55 |E=AER/N1| FHEE WEE s 347 #EELT
4| 12:30| MG WE |47 | VS | 29 |smr-ntsn| BEETLT |s=AsEkG| BHELT MG
5| 13:30| MF |s=x=#1| 40 | VS | 47 | BEF ME  |5857-nis| WNE 141 =88
6| 14:30| MG |s5m7-utn| 13| VS | 58 B |mAEN| BEF [mExEf] |24 WE
7 | 15:50| MFG | ZEZ3 36 | VS| 31 oy OE OB A=A |36 5FF-LHE
<LZF> MFG 1 {i---ZEF 247 --HiE
Hig:12H7H (L) =215 BA4FTALEP)—-F . CI-b Bi5 : 88F45%)
B (%) (=) =¥ TO WD
1 9:30| WD | &M [ 67| VS | 43 | LEZII| #HBB |awezxkan| HD3B 147 F=EW
2| 10:30| WE |avgxanO| 23 | VS | 33 |EF#R#&| Bat | LEZ)I| Ea 271 WEE
3| 11:30| WD | EEZI)I| 21 | VS | 37| XE |auedxan|REH#RH|cvrgxan| |34 EEZ)I
41 12:30| WE |EB#B#| 18| VS |42 | #8353 |LEZI| MNE | LEZ2)I WE
51 13:301 WD ME 31| VS | 50| EEW |EF#H| HDD |EFHBH| |14 #B3
6| 14:30] WE | #83 | 30| VS | 31 |[dvegxaO| INE Bath | WE 241 AK&O
7| 15:50| WDE| =&E# [ 62| VS| 32 HLA E KIE MNE 3 REIHRH
<LZF> WDE 147 &AW 2 HLB
Hi: 12878 (L) =15 BATAEEPY—F : DI-b Bi5 : 88F45%)
B (%) (&) =¥ TO WF
1 9:30( WF AKX 16 | VS | 31| X2+ | K=/ g R=ma 147 K+
2| 10:30| WG wEE | 24| VS | 30| B AKX | K2 AKX 247 &K
3| 11:30| WF | X# 48 | VS | 27 |17 HBig R[] g 34 HBFT1ZY
41 12:30| WG | ##0Fa | 32| VS| 28| XEM | A2t |[HE>1i=7| Kb WG
51 13:30| WG [a&E>2=7| 27 | VS | 34 AKX EHlrFE | K=m | HEfE 147 SEF0E
6| 14:30| WF | K=E®B | 39| VS| 33 B |(HAaBTizr| AKX (MESizr| |24 K=
7 | 15:50| WFG| X 39| VS | 32| &M & OE AKX 3 FEES

WFG 14

KAWL 247 EFE




5 22EEVEEHiERZHiASE CITY CUP (R18)

BEES
<Z¥F> = TOYh- TSI -ZRFENE,
HiZ:1288H (H) 215 BATALET)—-F  Ad-h Fi5 : 885455
SR (%) (=) = TO WH
1| 9:30] WH A | 54| VS |25 BR | 5FIZ| K | 5EFIZ| (14 KKK
2| 10:30| WI K | 32|VS|36| #HWE K4 =24 K4 241 B
3| 11:30| WH =2 [34|VvsS|27| L& A HE A 361 &
4| 12:30[ WI HME |46 | VS| 22| 58z | =21/ & =2 WI
51 13:30] WH =y 18| VS| 49 Rix mE 58z~ BhE 147 HE
6| 14:30 WI | 5%%=- | 13| VS |67 AR & i = 27 R
7 | 15:50] WHI K 41| VS| 32 HE e E  [WH24Z 3 5%==
<TZF> WHI 1 fif---KR¥8 24185
HiE : 12H8H (H) =15 Y47 ACEY)—-F : BI-b fHi% . 88F45%)
(SR (%) (B) E=H TO WJ
1 9:30 W] | X=EBS (42| VS| 17 | 55/\E| B&RE |EXNIIT| =BR 141 KEBS
2| 10:30| WK |[/EX0)IIF | 34| VS| 26| &S | K=EBS |58/\I&E| K=BS 240 S5E5)\E
3| 11:30| WJ |58/, WE| 25| VS| 16| @E |[{EXIIT| 88 |[/EXIT]| |34 @R
41 12:30| WK | &85 | 42| VS| 31 2R | 5F/\El AR [ SE/\E WK
51 13:30] W] i) 5} 12| VS |51 | XKEBS | F&& =5 &S 147 X
6| 14:30| WK =R 27 | VS | 47 [{EXIITF | AER A=BS AR 24 ™EES
7| 15:50| WIK | K=BS | 58 | VS | 18 |/&EXIIIT | & E  (WI24Z 3 =R
<BF> WIK 14iI---KEBS 2 L4501
H#E:12H8H (H) =15 Y47 ACEY)—-F . CI-b F15 : 8EF45%)
iSiE] (&) () HH TO MH
1 9:30|{ MH HEAT 69 | VS| 8 |EHYY |58F/\B| L& |5E/\IE| |14 By
2| 10:30|1 MI = 38| VS| 28 |EIJVE-X| #EYT |EBEAVY| HETT 2 =BIR
3| 11:30f MH |3&AvY| 17 | VS | 50 =R T& |[EE-X| & 3 EHYY
4| 12:30f MI |tJ>E-Z| 30| VS |51 |58/ \&E|(#ZEAvY| BERE |[#BhHYY MI
51 13:30] MH (=5 33| VS |45 WYy | E-X| SEN\BE|tIE-Z| |14 5EF/\E
6| 14:30f MI | 5¥/\#&| 40| VS | 29 =y =R HET =R 24 &
7 | 15:50] MHI HET 30| VS | 56 | 5E/\IE| KE E  [MH 24z 3 TIE-X
<BF> MHI 1 f7---58/\f& 2 {7 --HE"T
HiE :12A8H (H) =215 . Y17 46F7U—F : DI-h FHi% : 88F45%)
F R (%) (=) =¥ TO M]
1 9:30( MJ & 4 |VS |76 B PENA K PENA 141 B
2| 10:30] MK iR 45| VS| 32 HS =i B =¥ 24 Hh
3] 11:30] MJ Va2 53| VS| 33 =1 K 5 K 31 HE
4 ( 12:30f MK HS 46 | VS| 31 PE N2 BR =15 BR MK
51 13:30] MJ =40 53| VS| 23 &5 HS A HS 147 KK
6| 14:30f MK PE N2 10| VS |53 A4 &l 55 &l 2 HES
7 | 15:50] MIJK BE 38| VS| 18 A4 OE E  (MJ24Z 3{u =EA
MIK 1 4if-- B8 2 4L K




